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Ol &F A
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2024 Olat 2Btel ) HswsSw
A HSuUSH
33 sus 54
el sns #4st (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Hsnss 19,389,002 20,455,182 A1,066,180
= 1,516,500
[ 710,900
= 1,221,837
Al 16,123,128
= 816,637
Hsuns 84 13,183,868 17,097,845 A3,913,977
= 1,516,500
s 710,900
== 1,221,837
Al 8,917,994
= 816,637
HWsus 243 13,183,868 17,007,845 A3,913,977
= 1,516,500
s 710,900
s 1,221,837
Al 8,917,994
= 816,637
AUHA THEXIR 2,667,940 5,480,000 A2,812,060
207 ARl 60,000 0 60,000
01 1= 60,000 0 60,000
OAlUHA SlHZA & 2532489
60,000,000 * 14! 60,000
307 212+01& 2,600,000 5,480,000 2,880,000
09 2+FAHE 2,600,000 5,480,000 22,880,000
OAMUBA(LSItE 20, &5) XA
375,000,000 6 2,250,000
OAILHHA (B E2E]) HEXIZ
175,000,000& 22| 350,000
308 AtXIEMSOIE 7,940 7,940
07 HXHH RS 7,940 7,940
OZEE HAZSAEL B+X24 &
HIIEEEY 7,940,000 * 14 7,940
AU - SHEHA HEIled 4243 X 273,000 260,000 13,000
s 81,900
s 54,600
Al 136,500
307 @I2t01 & 273,000 260,000 13,000
[ 81,900
= 54,600
Al 136,500
0 BE+HHEXS 273,000 260,000 13,000
OAlU - SHEHA HIled 42483 X
el 273,000,000 *14] 273,000




A HSuUSH
M (SRS S4
ool Hsus 43t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 81,900
=S 54,600
Al 136,500
AU - SHEHA Bl &42d8s X 885,404 2,494,810 1,609,406
< 265,621
Al 619,783
307 lztol & 885,404 2,494,810 A1,609,406
= 265,621
Al 619,783
QB 2=gHEXS 885,404 2,494,810 A1,609,406
OAlU - SOHEBA Hi=d 4283
A& 5,404,000 *14] 885,404
= 265,621
Al 619,783
AMU - SHEHA 220A HE X 459,000 0 459,000
[ 137,700
Al 321,300
307 glztol & 459,000 0 459,000
= 137,700
Al 321,300
09 2s-gAHAELES 459,000 0 459,000
OAIlL - sSHEHA 2202 HEXIH
459,000,000 x 14 459,000
= 137,700
Al 321,300
ANEEXNSI RIIEES X2 3,000,000 5,000,000 /2,000,000
307 212+01& 3,000,000 5,000,000 /2,000,000
09 2 AHEXS 3,000,000 5,000,000 22,000,000
OAILBUSIHH A, EAl, 3t2) |IIEX
= K& 3,000,000,000& *14] 3,000,000
MaAa EX#A 2,853,000 1,288,000 1,565,000
= 1,426,500
[ 427,950
Al 998,550
402 QI2F X201 & 2,853,000 1,288,000 1,565,000
= 1,426,500
== 427,950
Al 998,550
02 I EASEZ(0IETHR) 2,853,000 1,288,000 1,565,000
OMaA EgX&A 89, 156,250 +32CH 2,853,000
= 1,426,500
= 427,950
Al 998,550




A HSuUSH
3 Usus |4
ool Hsus 43t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CAE NS2Y(S3E HA) 2,216,637 1,877,182 339,455
= 550,000
== 165,000
Al 685,000
= 816,637
309 HES 1,916,637 1,877,182 39,455
[ 550,000
= 165,000
Al 385,000
= 816,637
01 SAt- SHEYTES 1,916,637 1,877,182 39,455
OAUEHA 2SREH 2SS
1,916,637,000& x14] 1,916,637
s 550,000
== 165,000
Al 385,000
= 816,637
404 SAISEHAEEES 300,000 300,000
01 SAt- SEH=2d8ES 300,000 300,000
OAlLIHA RFESHM 2SS
300,000,000& *14] 300,000
CAE SSZ2E(SSE =) 648,887 609,853 39,034
s 79,000
s 170,966
Al 398,921
301 EtE NS 648,887 609,853 39,034
[ 79,000
= 170,966
Al 398,921
4Bt 2as 648,887 609,853 39,034
OS0IENS sjateis] X
648,887,000 *14] 648,887
[ 79,000
= 170,966
Al 398,921
2SuWSItE A Ot2elXl A 180,000 38,000 142,000
= 90,000
Al 90,000
308 AFAIEHMSOIE 180,000 38,000 142,000
= 90,000
Al 90,000
18 SIS0t 4 A A A 180,000 38,000 142,000
OLEuSItE AHl OtelXl XN
180,000,000 14 180,000




A HSuUSH
M (SRS S4
ool Hsus 43t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 90,000
Al 90,000
Hees(snsu) 6,147,407 3,300,574 2,846,833
WEHARE (S LS 6,147,407 3,300,574 2,846,833
WSMASEINH 2 (HSNSH) 6,147,407 3,300,574 2,846,833
701 JIEtI HSHES 6,147,407 3,300,574 2,846,833
01 JIEII AN ES 6,147,407 3,300,574 2,846,833
OLSAESEH dES
6,147,407,000& x14] 6,147,407
2L (HSnSH) 57,721 56,763 964
QIH2HH(HS RS 57,727 56,763 964
QI 2HHI(HE RS 57,727 56,763 964
101 21AH| 57,727 56,763 964
01 2= 57,721 56,763 964
OAlt2I22+4
11,3192 %17 x300A1 2+ 57,721




